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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

My mother was a very strong, ..........ccceevee. woman who was a real adventurer in love
with the arts and sports.

1) consecutive 2) independent

3) enforced 4) subsequent

The weakened ozone ................... , which is vital to protecting life on Earth, is on
track to be restored to full strength within decades.

1) layer 2) level

3) brim 4) ingredient

Reading about the extensive food directives some parents leave for their babysitters, I
was wondering if these lists are meant to ease .................. feeling for leaving the
children in someone else’s care.

1) an affectionate 2) a misguided

3) an undisturbed 4) a guilty

He is struck deaf by disease at an early age, but in rigorous and refreshingly unsentimental
fashion, he learns to overcome his .................... so that he can keep alive the dream of
becoming a physician like his father.

1) ambition 2) incompatibility

3) handicap 4) roughness

With cloak and suit manufacturers beginning to .................... their needs for the fall
season, trading in the wool goods market showed signs of improvement this week.

1) anticipate 2) nullify

3) revile 4) compliment

Sculptors leave highly .................. footprints in the sand of time, and millions of

people who never heard the name of Augustus Saint-Gaudens are well-acquainted with
his two statues of Lincoln.

1) insipid 2) sinister
3) conspicuous 4) reclusive
To avoid liability, officers were told that they need to .................... closely to established

department rules and demonstrate that probable cause for an arrest or the issuance of a
summons existed.

1) recapitulate 2) confide

3) hinder 4) adhere
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark the correct choice on your answer sheet.

The first organized international competition involving winter sports .................... (8)
just five years after the birth of the modern Olympics in 1896. Known as the Nordic
Games, this competition included athletes predominantly from countries such as Norway
and Sweden. It was held eight times between 1901 and 1926, .................... (9) all but
one time. Figure skating was included in the Olympics for the first time in the 1908
Summer Games in London, .................... (10) the skating competition was not actually
held until October, some three months after the other events were over.

1) was introducing 2) was introduced

3) introduced 4) has been introducing
1) with Stockholm hosting 2) and Stockholm hosting
3) that Stockholm hosted 4) Stockholm hosted

1) despite 2) although

3) otherwise 4) notwithstanding

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The origin of statistics and its development has been guided by the development of
nation-states. Thus, the major developments in statistical infrastructure have come
about through war or preparations for war. Examples over the centuries are: William
Petty being asked to assess the power and wealth of the English crown vis-a-vis the
French State in the 16" Century; the term ‘stat-istics’ itself comes from preparations
for war between Prussian statelets in the 19" century; Keynes’ methods of national
accounting won out over more logical organizations because it was an appropriate
method of managing the British debt during the Second World War; and so on.

The modern interest in reporting on social progress (or the lack thereof) can
probably be attributed to people like Quetelet, a Belgian statistician working in the
middle of the nineteenth century. Although he was eventually concerned with the
development of an administrative system required by the embryonic welfare states, at
first he was simply concerned to document the downside of industrialization and in
particular the extent of ‘criminality’. Criminal statistics have therefore been a crucial
part of the state’s attempt to control its population. It is not surprising that there are
frequent arguments about criminal statistics: the most recent was the call by the
Statistics Commission for an independent body to publish criminal statistics.

The underlined word “assess” in paragraph 1 is closest in meaning to ................ .
1) limit 2) trust 3) employ 4) measure
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The underlined word “its” in paragraph 2 refers to ................ .
1) population 2) statistics 3) attempt 4) the state
All of the following countries are mentioned in the passage EXCEPT .................... .
1) Russia 2) Belgium 3) England 4) France
According to paragraph 2, Quetelet’s initial motivation was to ................ .

1) help the development of welfare states

2) study the extent of criminality in the 1900s

3) record the disadvantages of industrialization

4) develop an administrative system for the state

According to the passage, which of the following statements is true?

1) Criminal statistics first emerged in the 16th century.

2) The word “statistics’ originates from warfare logistics.

3) There are a limited number of arguments about criminal statistics.
4) The role of criminal statistics in population control is insignificant.

PASSAGE 2:

The limitations of statistics as applied to medical problems are well indicated in the
following words of Arthur Bowley, the author of one of the best modern treatises on
elementary statistics. Speaking of the want of recognition by statisticians themselves
of the limitations of their work, he says: “At best they can measure only the numerical
aspect of a phenomenon; while very often they must be content with measuring, not
the facts they wish, but some allied quantity. We wish to know, for instance, the extent
of poverty, its increase or diminution: we cannot define or measure poverty, and we
cannot even count the number of the poor; all we can do is to state the number of
officially recognized poor people, and add perhaps some estimates from private
sources; but this gives us no clue to the intensity of poverty in individual cases. Or we
wish to obtain statistics of health: all we can measure is the death-rate, and average
length of life—very different matters. The statistician’s contribution to a sociological
problem is only one of objective measurement, and this is frequently among the less
important of the data; it is as necessary, however, to its solution as accurate
measurements are for the construction of a building.” Now this is quite true but the
time has assuredly passed when it is necessary to justify the skillful employment of
statistical methods for the elucidation of medical problems. Certain it is that without
such help medicine, as a science, could never have achieved even its present degree of
precision.

According to the passage, Arthur Bowley ................ .

1) was mainly interested in the extent of poverty

2) was the first writer to discuss medical statistics

3) wrote a great essay about elementary statistics

4) was chiefly concerned with health statistics

According to the passage, instead of measuring the facts they are eager to know,
statisticians are usually content with measuring ................ .
1) quantities associated with those facts

2) qualities directly related to those facts

3) the limitations of their own work

4) completely irrelevant phenomena
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According to the passage, objective measurement usually ................

1) plays a minor role in terms of data gathered about a social problem

2) goes completely unnoticed by statisticians studying a social problem

3) does not contribute to the solution of a social problem

4) involves areas such as construction and housing in social sciences

According to the passage, which of the following statements is NOT true?

1) It is not possible to exactly define poverty or count the number of poor people.

2) The only way to gather data about social phenomena such as poverty is through public
sources.

3) Death-rate and average length of life differ greatly from statistics of health as such.

4) Arthur Bowley believed that statisticians were unaware of the limitations of their work.

The passage provides sufficient information to answer which of the following questions?

1) How can statisticians make up for the shortcomings of their field of work?

2) What is the definition of medical statistics?

3) When was the term medical statistics first used?

4) Has statistics helped improve the accuracy of medicine in any way?

PASSAGE 3:

Statistical Reasoning is a specific, albeit relevant, instance of Approximate Reasoning
or Reasoning under Partial Knowledge. Its distinctive features include: (1)
applicability to “collective phenomena™ (namely phenomena which are characteristic
of a set of observational instances, rather than of a single one); (2) reference to one or
more “variables™ as observed (or observable) on different “statistical units™ (statistical
data); (3) presence of several sources of Uncertainty, related to both the observational
setup and the models utilized for analyzing the data; (4) uncertain conclusions of the
reasoning process. [1]

In the past century’s literature, a few theoretical frameworks for developing
Statistical Reasoning have been proposed. These range from the classical Inferential
Paradigm, including the Bayesian approach to the Descriptive-Exploratory Paradigm
of the French school of thought usually referred to as “Analyse des Données,” to the
more recent Statistical Learning Paradigm. However, all of the above frameworks do
not allow for a complete treatment of the various sources of Uncertainty affecting the
Statistical Reasoning process. [2] A broader view is taken by the Bayesian-
subjectivistic approach which generalizes the use of probabilistic tools for managing
uncertainties related to modeling assumptions (the so-called “prior information™). [3]
Then, the computation of posterior probability distributions, via the Bayes formula,
allows the control of the uncertainty associated with the conclusions of the reasoning
process. [4] In spite of the increasing utilization of this approach in many applicative
fields, still the need for a more inclusive treatment of Uncertainty in Statistical
Reasoning is widely felt, by both theoretical statisticians and researchers in the various
substantive domains. The main sources of Uncertainty that appear to be overlooked, in
this connection, are “Imprecision” and “Vagueness®.

The underlined word “substantive” in paragraph 2 is closest in meaning to ............. .

1) practical 2) inconsequential
3) ambivalent 4) dexterous
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According to the passage, which of the following paradigms is being increasingly

employed in statistical approaches to uncertainty?

1) Descriptive-Exploratory 2) Bayesian-subjectivistic

3) Statistical Learning 4) Classical-Inferential

According to the passage, what is the relationship between Statistical Reasoning and

Reasoning under Partial Knowledge?

1) The former is synonymous with Approximate Reasoning while the latter is a scientific
discipline.

2) The former is an abstract concept whereas the latter is an academic discipline.

3) The former is a specific but pertinent example of the latter.

4) The former is a broader area encompassing the latter.

Which of the following words best describes the author’s tone in the passage?

1) Ironic 2) Biased 3) Humorous 4) Impartial

In which position marked by [1], [2], [3] and [4], can the following sentence best be

inserted in the passage?

In fact, the main source of Uncertainty possibly investigated in the mentioned contexts is

‘“‘randomness’’ (quite often limited to the ‘‘data generation process’’ managed by means

of appropriate probabilistic models).

D [1] 2) 2] 3) [3] 4) [4]

[(Jloir] o g 6y U] lo o B 2 9 Lo s yilo (Gleo (T 5 1) o (6 ,) il g )0

iy o y9m0 plaS oL ST sl 25 =527 +1AZ" — Yoz Ya =0 Wolre gloaiu, I Ko Z=VHYi 51 Y5

flaw! dolro 31 (5500
Y+ Y1 ()
—Y+Yi (¥
Y—1 (¢
—Y—1 (f
X

=) X—)

400 ()
£ (Y
Y (¥

e YV

oo (F

1 F & oy 51055 Govo FX+Y) = FR)F(Y) alaly 30 9 R 1 iy o 3 diusgey 2 o f S (553 VA

f'(x) oLT (lim q(x)=b g lim p(x) =a a5 sba sls Ll f(X)= \—xp(x)+xvq(x) Gy &
X—o

X—o
¢l plos

bf(x) O
af (x) (v
—bf(x) (¥
—af(x) (f

https://mastertest.ir



Y axio 533C (YY) Ll

X
v Sl plas g(X)=I f(t) dt 2l Hloges olT bl pj O ygoay =F(X) &b Jloges )51 -¥4

/_\ . /\
:X(Y L ;X(\

T T > T /1\ :X(v
/ b a b

0

¢l ploS o

e Sladie A>0 gljlay —Ye

In(¥a)

n&)
Y

\
—Iny (v
Ya

lln\‘ (f
a

0
a \
?w!m)oo),.o,a|..\5‘ao>\/;3{an+\=7“+—} dlis gly -M
all

n=o
Ll Sg adlss ()
ol [0 gy el SIS YL 51 g (g0gm0 alis e (Y
el e (g el IS 0l 5l g (Jo35 s ez (F
el 1,50 e el ol ST aAlss ez S e 19280 allis ax 51 (F

https://mastertest.ir



A axivo 533C (O¥-Y) Ll

feawwl plas YX+Y+Z=) g X+Z=F axis 95 ;s w9l

Q
«

(¥

< |a #t]|a s|a »|3a

(f

Y oy
Sl plaS XT +yT VP UK g0y pinT anol o liuno

i
=0

A
—
Y
ot
Y
Y7
—
v
Sl oS il o0 fX=yY e 9 X =) Canly b a5 3900 4D ‘OT)oAS‘ﬂ.xydxdy lado

D

O

-t |-

V(Y

(¥

(f

“t |- —t|=

Y=o amio s X +27 = 8 dilgiul Yy = X" 27 550 (9% nten 4 35930 (o255 gl S w5 55
Sl oSS 5 F(X, ¥,2) = (X27, yX', = ¥Z) 6,10 oslme g1y yLis .ol

VAT ()

oY (Y

M1 (Y

\VEYT (F

2 r(BA) =0 bl aiils yio ,51LB (w ilo y0 (gl 455 ysba Bl NXN gy lo A uiS (p 3
Flaw! (o yilo diglr A (o yqu0 0]

b3 ()

Sles (¥

ke Y (Y

Hro oy (F

https://mastertest.ir

-Yy

Y

-YF

-Yo

-Ys



R amivo 533C (YY) Ll

§ i j0 liicio G g yilo 0580 50 ) sdo I35 jI SGplas -YY

b slasl acgeze 4y 3l N jo gl ol BT L aleze A" ol wsl B L alzie A ST()
tr(A) = tr(B) o557 sl B L alaze A 31 (Y
ool alisie g3 03ledl 5 b G Sle yo (Y
sl iz BA a5l LAB (¥
. dimW=¥ gdimker T=Y .dimT(V) =) , 5.0k s bod G T: VoW uis g8 -YA
Flawl Sy 8590 pluS O yguo s
2l (sgacdn al S V(Y ool sgae90 Vil 52 ()
)0 gasan 4l Sy 5 gpacss by 90V (F ool gom ¥ (s lop slas o V(¥

- 5 v
Sl plas A) +AY Joolo .aiily 5T o3g polio Ay 9 Ay 5 A=[Y v] EWRCTPRVET St S

YY ()
¥ (¥
Y (¥
Y (F
25 b5 S 5 wbl ks (lpo LN piSTas 4250 3 slaslalerwiz ylop st Py [x] wss o8 -
g 50 0 1,
T(E(x)) =xf'(x)—f(x) absls LT : P, [x] > P, [x]
Sl 3L T Joad 3550 50 0,135 plas g0 (0 5o
P, [x]=KerT®ImT ¢
Cawlings T (Y
el SoaeSS T (¥
KerT=R (f
Alis (Ap ke plas 151 .05 o Goe ANV N |ay —ay \[S A, ally o {a,} dlis ais 55 -F)
fuisly 1,51y sl 5o {2, }

\
— (O

=

\ ¥
7'
n

(¥

n

—

Yn—+\

¥
n —n

(f

https://mastertest.ir



Yo axivo 533C (O¥-Y) Ll

. m _n
Flam] G yd ay 35 plas oI ‘A={—+\°—|m,neN} S1o-fY
n m

infA=o (
nfA=¥ (v
infA=0 (v
supA = (f

Sl 4y 35 plas’ R 45 acgommo oyl b olST ‘A={%|m,neN};l —FY
A (O
AU{o} «r
[o.0) «
QN[e, ) ¢
99 iy 5 Ao b Fi[a, D] SR b as 8 -FF
{x xe[a,b]ﬂ@
f(x) =
—-X xe[a,b]ﬂ@c
((Cawl b g dluc! dcgozmo Q) Tmw! Caw yo a0 35 plas

a' —b"

b
j £(x) dx = s ol losy iS5 £ s el Lot @ g O
a

b —a'

b
j £(x)dx = 5 ol plor, v Sl ls (¥
a

b
j f(x)dx =04 cunl jleg, pds JLZ! b (Y
a
s lony iy S5l T s (F
Ssplas f(0) =0, F(1) =1,f(Y) == 5 iy piysiine (0,¥) (595 9 aimgmy T [0, Y] DR &b aus 5,8 P
Saiols £ 2l 859 30 ol Koo o) Sl 3
f.
v
V(Y
’
»
Jao (F
PO YL Comonr 0o )3 Y7 iliy JST.am0 o0 pLid )l Jlw sl 1) )b S0 Camor (25 glaar logei - FF
Suiciwd (JLo 58 GV 6YL) 515 w50 oYLa ) 1 Camos 3 duoys sz Ly i iyl oo Jloo

OC\/A (\
Om—
?Y/f 4
S ST — - Yo, 8 (t
0 17 33 50 =105
VYN (F

https://mastertest.ir



1) axbo 533C (OY+Y) sl

¢l oy 8 yg0 plaS oSST (P(E|F) =) S1F g E woliny 90 1y —FY
P(F|E®) =5 (
P(F°|E®) =0 (v
P(F° |E®)=P(F°) (v
P(F|E°)=% f

S ylad oo 42 LT 557 0590 35 ensl VY yilys 3Ug0 Aiges K5 olalin ylazo Blyoil  —FA
VARG
NOSICR A1
Y (Y
Yl yes (Y
395 95 & slp 90/0F 3 18,3 (slp 0/BF j90l (gl CI M SO plow LS GBI Jlisl uns (o0 -FA
Foww! plas oy, 31 SUzwd j0 &S pb (ol ploaw o o giul 3! Jlais! .ol o/ YA
O/\(b (\
O/YO 4
O/YA (\ﬂ
0/\” o (f
Sloi d g Slaai Lo 4y sldacgommoy ) Sloti Camud O yguo ] 50 ‘S={\,T,---,N } S o8 -0
Sl p‘..\f ¢S )‘| .>)5 oy l.v GQ"J“'C ‘51.0499»:90).3.)‘
\

\,N—\

\— Q

Y (Y

\
N+

4
Y

)
V-—— (f
N

ool s 1y (plig S99 Y0 BO0 Cwod 1) )L G Y0 Yooo cud w ) gily SO (Frwgo dwydo S -0)
Caond (S0l (YR OO Lz SBlyzil b )¥s Fooo gily OO Cuond (il 51 .Canl 00 )5 (gl 55 J¥s Foo
o iy bl Y00 Hlure Iyl b ,Y0 Voo g cuond (il 9 Yoo jlure Sl pail b ,¥0 Boo LS
fewol ony 5 (1,515 plas g o501y Il plas G 4 sl
gl - LS (Y S - b O
Ok - il (F Oy - s (F

https://mastertest.ir



VY axiio 533C (OY+Y) sl

S Ayl Jlsio | oS o0 U 4 po jlez 1) (ol osciwd £ b F X Y Y olael Jolds Wl G amg il -OY
(ol iz gl ounlio ¥ azg dud po 90 9 ¥ dorg 4 o SO ¥ 4 g & yo

—t t
P(X20) ,lado il M(t) = ‘He‘—;“’ 13U oo @l by A’ 3olai piio S5 X anS b —OF

¢l plos
V¥
\$
\0
\$
\Y
V5
VY

Yo
Woualio oyl I b g8 J8los 4 ol Jlois!| oS oo wliiil Bolai 4 suline & slawi (N(0,1) aj95 5| —OF

O
4
(¥

(f

f ! IS ol o
YA
Yy
A4
Yy
Yo
Y
Yy
Yy

Q
«
(¥

(f
XY .
s X>0 08 o8 00

e ()

e (v

€l p1aS PY > ¥) &0 il 10 X oo e32) Y =[X] 9 Fx(x) =1-¢€~

e (v

e’ (f

https://mastertest.ir



W azio 533C (YY) LT

Yo e
\ iid
Sl plaS (P(T > 0/598) o i ylutio [T = aZI(Xi >1) 5 Xy, Xy X,y ~ N(,67) 551
i=)
00 Y ()

0,00 (Y

0, 0Yh (¥

o (Y

] 00l olBiil GBS g Solaai jgmbas 4T glakaili 1o 1) 4T 9 pa,lo Jlost Jo L Job & wga &
A4S 292 Loy )L od (o o0 y10 o0 40 Conl ©92  Cow Sl A5 1y (glanlad g pusSll 0
(] plas” wilo oo (Sb 45 (292 ;a1 0590 Hludo .S (o0 1SS 0251050

8 Hebdan il T" =;ZXI 9 N(0,07) amjs 3 (Bolaad abigos o Xy ey Xy oS (58

~ ~~ ~~
= = -

< | | «|— |-
~~
‘6

feuiS i oo 42 B(VX) 590 30wl E(X) =2 b ol bolai jio 5o X 5T

EWX)<va o
EWX)>+a «
EGWX)<a (¢
EWX)>a (f

https://mastertest.ir

-0f

-ov

-OA

04



V¥ axio 533C (YY) ;LT
Y _YX_X .
fewl iz E(X-Y) kol f(x,y) =€ ¥ ,x, y>o ol JEx o (X, Y) ans o8 -5
4
-
v
ﬂ
Y
N
\
Wy
— (f
Y
Sl plas Var([T)) jaie. T= X Xy Xy gl pj Jhosio! @b b o395 5 Bolai digei o Xy Xy X, 51 -5
0
—
X | — | o | ¥
£ | 22| S
ARAR: Al
4
sf
A
Ff

X il ylg 9 uileo 51005 o0 HLes! plp sl L1y ), Y, ¥ polio X Solai it 0usS (o9 —FY
Tl plas’ m Hlode (ool pl o2l

VF QO
VY (Y
V(Y
7 (f
P(X=
RSV R PV P(_—X)=l adaly (oS o0 a1y ol oo Slusl a5 X diwend  Solai yuitio gl —#Y
(X=x+Y) a
! ,a‘..\f X u».il.u‘g
a(l—a)" (
a('—a) (v
\—a
a
a
Y N
(\-a)

S350 30 &g (p] 33 bl ¥ (il )y 5 Jho (Sl b (o259 3 (U 90 (Holai diged S Xy 9 Xy ST -#F
feds olgi o0 42 (R =max(X,, Xy)—min (X;, Xy)
E(R)<y (
E(R)>y (v
E(R)<+f¥ ¢
E(R) >4y (f

https://mastertest.ir



V0 axéuo 533C (OY+Y) sl

o ,el.\S‘P(E(Xﬁ_H X)>%) Sade (Y[X =)~ U(X,1) 9 X~ Ue,) wusS 5,8

~~ ~~ ~~
= =t -

“|— 6|t t|—< t]|—
~~
‘6

iid
S o) 39 P(U 2D = LY 5 X 51 it ikt satin X2 U's X, Y = NG, 8 o8

fam] Cawyd 3y90 plas T=UY ¢ S=UX ¢lp

Cov(T",8") =0 s Cov(T,S)#o ()

Cov(T",S") #0 4 Cov(T,S)=o (¥

Cov(T",S") #0 s Cov(T,S) #o (v

Cov(T",S") =0 4 Cov(T,S) =o (f

Fannl Cans 0 1308 125 3,150 31 S pIAS sl oukians {Fg , 0 € O} w0lgils 5155 T o )lol i (159
ol 00ty 07 1y T o, LT (Y ol o0ty 07 gy TT 6,LeT ()

0,5 olgiced ok sl (F el oy 0 (gl TV Lol (¥

sy aiitls W(T) ol 1y =510l {Fg ,0 € O} o0lgils 10 Jmols 0lool Sy T il 5
C it WoplaS H(T) = 0 alolne sloain ‘EI:h(T)—TY + \"T] —y

T=-),-Y

T=\,v (¥

T=\,v (¥

Vv
T=—,—(f
Yoy

s Xy =min X; ,51.ab U(e,0) (0> 0) amjei il odolo (slaigns Xy Xpy aiS (5
<i<n

X(‘)) Iadio X[y = max X

J « - i

X(n) W cien

n-—\
— ()
n

)
— (Y
n

\
n+\

n
— (f
n+\

¢ Caw! 'ek\f E(

https://mastertest.ir

-#0

a4

_$Y

-#A

-$9



\$ axiuo 533C (OY+Y) sl

Sl Gy 395 O yg0 plaS .ol N(G,GY) &390 3l Bolai glaiges Xyyeny Xy duiS (258 Ve

"SRR NI I < B
X_nizz;xl,s _n_‘z:(xl X)",0>1
E(X)>E®S") o
E(X")>E®S") «
E(X)<E(S) v
E(X)>E(S) (f

n
T=D X o b oSl caily A uiloo b oty @357 51 oL Wiged 4 Xy Xy oS (28 V)
i=)
Seanl plas AT sl UMVUE
Y
—
-
n
T(T -
(T-Y)

v
n

T(T+))

v
n

4

T T—)

—(—) «f

n n-)\
UMVUE . T=X,+ Xy 28U .ol B (Sl b olod 29595 51 2090 (ol aigei Xy, Xy oS (o9 VY

e_? (f

\ -l(x-u)

Hadl (3 10)=—e O T, X> 1 Jr b iy | 2 ol ises S Xy Xy 2 VY

fmsl oIS (1, 0) (5 y5beieS slodyl o X = ﬁzxi ,S" = ﬁZ(Xi -X)"
(X.,S) ¢
(X+S,8") (v
(X-S.,8) (¢
(X-8S,8) (f

https://mastertest.ir



W azino 533C (YY) Ll

Fl = 3olS ol oS il A >0 (pufilho b (s @597 51 Jumo (Bolai (gl yuito X, Xy oS (93 -VF
Sl plas’ P(X =0, Xy =0) w)i [} ‘_gl.bowé)giﬁ Y

e ™ ()

fae” (Y
Yae ™ (v
e ™ (f
@.Lw'.};w)é ML«; )fo)gi).g c(° <7\.) A ,_,.afeb.o b O.w',q: @'y )‘| X\’XY"”’Xn @al..a.o 4 god u»l.wl).g -Yo
fewl plus P(X>Y) sl (MLE)

\—e‘X O

—e X —Xe™X (v
eX+Xe X (v
—e X —Xe X (¢
Sl oIS N Lo 3 arosnsS o 3 59 13 .l 00l (6 AT e 0 ye0 K Sluxi (3] 31 45 oS’ o0 il (6 )laS >
(M —=yV)x(n—Y) o
k—)
M=) x(k—)
(M-Dx(k-)
n-—\
Mxn

k
M x k

n

(¥

(f

n
)
1 (.T) abols s T =23 TXT, 51.cont N(,6") i 31 ot sl aigai Xy, Xy a8 5 VY

i=)
(D)= V) Sl i als 5] e Sl 30 © 513 ol ol o5,

Jn

—o ()
Y

Jno

Y
——0 (¥

Jr

(¢)
— (f

Jr

https://mastertest.ir



VA azivo 533C (YY) Ll

Q)HA_ge yoly)ls gl A0 bl Aol .ol Sl ow oyl S A X Bolai piio aS (258 VA
Sl plas o/Y (g lobxo o jo H 100 plyp 0 H, :0=0 og.o)‘i‘_g‘)ga)dpbs_il.ud X=,X+Y)
{XS\”/VO L XZ?/\'&} Q

{(X<yyo L X>gvop (¥
X<y L X>g0) (Y
X<y L X>5} (F

\ -
0= o3I 38 cnil el il 5 1 Jloiol ol 1 S5 b it B0l it 0 X 51 V8

fawl plos’ H\:X"'f\ Jlio o Hy : X~ 1, ol

X \ Y | Y |¥f
Lo ||y |2]y
YIVYI|VY]|Y
Ho [ Y)Yy
Al AN AN]A
) \ X=\,Y ; - \ X=Y \
X)= ( X)= (
® ° x=Y,¥f ? o X =\,Y,¥f
\ X =) \ X =\
\ \
QO(x)=1<— x=¥ (f o(x)=<— X =Y (¥
Y Y
o X=Y,Y o Xx=Y,¥f

sylol Sy T=T(Xy, X)) 9 {Fg,0€0} a5 0155 31 ok slaigns Xppyewns Xy 0l 553 —As
fcanl cowys E[@[T] 8,45 baof35 51 Syplas” sl 5o cyg031 3 @ 55105 0 (gl ouns
el @ olgs 5l S T lgs Lol sl g,Le] g1 S5 ()
2,5 a0l Glsias T g oylipo Lol ol (gLl (9051 S5 (Y
ol S @ 0l b T g8 a5 el (el (g03T S5 (Y
e 5ol 031 S Loy (F

https://mastertest.ir



14 azio 533C (YY) Ll

) a5y (V5 1) s pSdigod) V' i’ g0

- Y
i (9 gm0 3] Il fe(x)=e—rx" °0<X<0, 0>0 JEUL vjyjlovdlicn i X uss o8 -A)

) )
el plas O gzl Ho H,:B#;ng.&e,o H0:9=; PR lp e bbican,s

y
\ Yo
Y
O(x) = QO
Va
o X >—
Y
Y Y
\ X < ﬁ L X > ﬁ
P(x) = A i Y (¥
° Oygoin! )0
y
\ x < g
o(x) = (v
Va
o X>—
A
\ £<X<£
o(x) = (f

o uﬁ*"gﬁ‘f:‘ﬁ
POl p bl F(X50)=Y0Xx+1-050<x <) ,—1<0<) JE> &b jloudlie ST S X ais (o8 —AY
fewl plas Hy 10> 0 Jilio 3o H, 10 <0 9031 (6l O o3Il b ¢yg03T

X <a X<\—o
o(x) = { (¥ o(x) = { (\

0 Oyponl ) o Ogeinl e

X>\V\—o X>o
0(x) = { BT 0(x) = { L
fl plp o2 b digad )0 anolr ldasly Ll uilds 25 6 5 diged oz b plas’ )0 —AY
clie Larazs b glands (Y (osbolw) Sslecows ()
3,ls0 aon (F ool Bolas (¥
flaml ool Bolai dy Cammd (6 i (2115 (61510 S loduanws (6 S digod o yguo plas )0 —AF
abl Solai sol> wig, (¥ Al 19285 s wig, slyls anel> ()
aib 1655 ez 18 asel> g, (F Aol (2l aig, gyl aml> (Y

https://mastertest.ir



Yo azmivo 533C (O¥-Y) Ll

s 3l eolisw! Lo g gladub gy 49 Vo g 4y (gldiges ¢ ) Jguor Glakiuo b lasls I pudles 0 —AD

¢, wln oo . e les o
adinbs oylos | adab paxo | adinb il g ! plaS Gl 51 03Y diged poxo (euiles ! 5wl (pons
ng,=¥o .n =00 .0, =00 (
) Yao f
Ny =Yo cny=0c cny=7%o (¥
Yoo ¥ Y Y \
1'1‘~=(bo ¢ n‘, =¥o ‘H\ZAO (\“
¥ bo Yoo

n. =\f n,=0¢ .ny=Yo (f

oS =l 90 1y aigai 031l ST P glenli o 0591 3 cupr (55101 (g9 00l (Bl (g puFaiged jo —AP
o 55031 3 2T
Dgbse plp g9 3l e (¥ Dbyl 99 ()
Syl Ko P jlode o (F b oo iali8l auo s B0 (Y
L5091 3 cdlo plas )0 il (alin Cumonr K ;0 Y 9 X o 93 (Sl Cond il sy R 5T —AY
€310 sy Lot )Y (aSiloo S 3 Sgame)
S, xR =8
R=S, «
SyR =S, «
R =S (f
A uoly S b 2 5l 5T 150 15 50 1) ply aSilo 9 YO slapare 4 ojliles Al 90 Jolds glaxcl> —AA
oy ablgs dnols S Ol pki' il Wi oiibliisl sy 95 (paSilo il g euu” oliiil ool Solai b,
o/ ¥0 ()
o/ fa (Y
o /NO (Y
o/BY (f

Xy O

S yro i yiam Yy 9 Yy, o N glasol> 5in oo 4 6,100 (g ool (Solai g mSaiged o -AQ
! plas’ ‘COV(Y‘ ’ YY) o1 ol digod sub ol 90 9 Jol sruslg

N-\
flawl Cawyd 0yg0 plas Qs
Gl glal> o 90 gladigs (5 T diges B Cl> glatb (6,5 a0l ()
el lal> o S5 sladgS (5T ages ol Sl glaib (g T aiges (Y
ol Silettnn (6 S diges (215 > glal> o SG GladigS (6 S iged (F
Ll ool Bolai (S diges ol cll> calin jamass b gland (¢ S aiged (F

https://mastertest.ir



Y axio 533C YY) LT

olojep yeba pariun gac 30 4T Jloio! gpuas 100 axalx 51 5 Il Gaus ool (Bobai (g uSaiges 5
¢! ,a‘..\f c&)—j )‘)3 ‘5'“ Vo ‘5‘4-;9.0.; )é
Y
— O
o
Y

\oo

4

(¥

Yoo
\
Vo
1S Ll (glalies (sg) 4 F pone 4 (gldiged madlys 20 9 bl dligs Vo I JSido glamalr usS (5,9

(f

Fansl IS claisgs diged (il (il g by ALB1S >ty S5 ocd oS 12 99 il (G7) dnolr (il s

~ ~~ ~~
= = -

€| |t 4]|— —|—
~~
‘6

Sy 5l a0 9 Comozr 03,5 il ) Hlgils b Bolal 4y &5 ¥V o Camox L Hlils Ao 51 JSisko (glanole:
S50 )31 2 31 eoliicusl b (3l 050 33 w00 )3T Camwdds 35 Jgur 73 42 0 5 5S35 LT (1L dilalo
o 4 Sl o A 0,59l cans 2 )lgils 5B (U O pan (1Kl g 0lo 53 Hlgils (U Al jw By (S
el Wyle plas’
VA F ()

VA 5 F,0 (Y

VF g F/0 (Y

VF 5 F (F

Mgl [ ¥ 8 [ ¥ 0]y
ol wlalo b ypae [ 18| Yo [ Yo [va | e

Lﬁél—aﬂ Lf"”) a )‘9)[—" ¥ olowy c)‘yl’ Yio &.»Jlﬁ J° ).GJ Afo J-ch adlaso & 3 ‘;AJL)O 0‘)9' M O),T)J ‘5‘)-)
flamwl W yle plas 2ol ol 81 Caowd Gg.)il.i Q)STJ.! ol 000] Cawd a ) Oledbl g oul bl solw

— ()
oyl | Hlgls ojlasl | Sobo of 81 slass \§ (
| ¥ | Al ¥
Y A Y "
¥ v o Al A\
f
f f | y
— (f
f

https://mastertest.ir

-a)

-y

-qy

—a¥



VY axiio 533C YY) LT

Jumo alonel ot Xy g Xy Jhiams (gl i 3 Y dimnly juiin (a5 (o9 Sy G031 5 25 S 90

] plas (2l oo (50313 (y9ams5

Estimate | std.Error | t.value | PrC>|t) A Y=V oV HAT, O
Intercept | VoV YYsas | YA4 ojo0 | YT VAVFI/IIX 40/ WXy (¥
X, 1,AY o \OFF WS |y opae | YT Vo VAVAYX) 40/ Y VX (¥
S’Z Y,oV+0,YYX, (f
XY O/YT 0/0\/\6 O/f\' 0/7VA
Sleicds a3 oaS wenlg; ~ N(o, X;67) o ;3 45 y; =P, +BX; + & oolw b oSy S azsi b -8
!l cuwlio Joro (uils ylg Cadd (6l 1 e 9o
‘,Xi (\
X 41
\
VX
\
Xj
a5 5 9bam W3Sy Sy 1y ealie n b Y =B By Xy +o By X HE Alfuin (hi (amwyS) Juo -4V
Jo 3 1) Z was Jiiumo puiio mublys oo S (9 ol I 4o b (Slod s yilo Iy 5 € ~N(0,6'T,)
Al b o o po b (patd o o jlaro 90 (pguas )0 &y i pluS Z wus o (50938 31 e e | 38Le s
Wbso Gli8l Jow 4 o e 09381 b o)laed 4Bl hows i o po ()
J.MJL» )‘QGM ‘So)D-F w)..o Lg‘)lb ‘_J.\.A VAW oojj'él LJ.D.HM )...a.uc as JJL\‘SA w.o‘;&‘ ‘5'5)5‘.4).) ] w}.o 41
o GRS ¢S 4y 0a 03938 JRis joiie ay bgyye 237 By SIS ()l sine pas ©j900 e o (F
Al om0z B po (gl Jae 4y 00 00938 e 45wl go Gl (555050 Lo 4l hyoad s o 5 (F
o3l s 090 Salgi o jieS gy 4 oddlie o M wlwly LY =P, +B\X+& eolw (s fygmw 5y Joo -3A

30 (28lg polio ply g0 LbM! X Jho grio 4 bgs o Oladlio a5 plaidl ;0 Olawlxo ploil 51 g polosls

§ ] grats 3550 pIAS (g plonil T80t (guoro & ygods wsluwlons azmilin Wilouuds 438 )5 4L 1 &luwloxe

ol gz e slrosls a4y oo il o ol pl 90 o slesls 4 sad bl s ol 0491 ()

s peazes il (Glrodld 4y 0dd il e (i oy b il oro (sools 4y 0als i3l Jae pasd o (¥

Ll o s (losls as o il Jas s il pusno (slosls 4 sl b3l Las o 5,91 (Y

£y OMUG)‘)J J».\.o 6‘)) o..\.wJJ-.\.u Oy w)..a Lv ﬁ‘ﬁ e él.bob‘.b £y} o..\.ww)l).: J».\.o 6‘)“ o-.\.wd.w\.u O w)..o (\c
oy oo il (Gools

https://mastertest.ir



Y axio 533C (YY) Ll

SRGIg cx yeS b9y 4 (X, Yj) eunlive zg5 (N—Y) wlaly LY =B +P\X+& ool s (gm0 5) Joo
o 48,5 iy {(X,¥) 5 (X,0)} osdlive ) 95 45 magivesn argio (B3l 31 o potlosls il as g
(WS 0 i 1) oS I SuplaS 58 plonil Touzmo o ool (38,5 iy b lowlme aziliz

(Gl (Sosd) 5oS itio Sualio M JS (puKilio X)

~

B. O
Sxx (
B\ \
SSR (f
g S S5 1) 2 ygods o0bw (s (g Sy Juo
Y; =B, +ByInx; +¢; , i=1,Y,...,n
(g 3 5353 E(Y[X) 1 Geanly b yib (5ulse) Tumsl 615" (By) (g5 (a5 ot yomas
X (§55y yeitio 5o (inl38l axly S slilay gnly juiie oyl :Silis 50 ot Glyee ()
X (9% yite (b plp € (il el pitie (BB (puSils )0 it Gl (¥
X (§95auy yeiito yo (S axly SO sl Grly porie (bl (52S0he 5o 5ess Ol (F
X (s9%day it ;0 Gl aly € il ks pitte (o pd Sl 59 ki e (F

)L\_ii.o‘Cr_w‘ g; Ll\g N(O,GT),i=\,...,n dT)édSch =BO+B\ Xi+8iooLw6h5QW)f) J"\“’)‘b
et las P((B, > B)UG, > By)

\
-0
Y

\=P(B,>BINEG, >B)) «
\—P(B, >B)P(B, >B)
Y (F

oolboly b o 391 @ igied 9 (09 dwmodl BB L Y =B, +Bx+Eoole hs (ygw)S) Jao

S el ylh p pioS by Ay §y 10w Oyl p 351.0u 50 Ja5,0 1y X=40,...,0 , Y,..., ¥ Oloalie
290 Sl (o yieS (Jigy A (Famw Sy Juo 359l 5100 W0 a0 | ; 50 l: Yoo
" Tt

€ ansl IS (355 ) Jobo (sl g g ey VAr(Bo)=o/ ¥ L V= Y+ X s
o /80 ()
o N (Y
o YO (¥
o Vo (f

https://mastertest.ir

=Y

_‘00

-1

=)y



Yf axio 533C (OY+Y) sl

099y b 950 Juo . oSy Jlaiys 1) eualio Dl g oSy o P LY = XBHealuin (b (ew)S) Joo —)oF

Iy oy a5 Var(e) =o', o s cdls ;099 (il g 9 092 Aimmenodl (153 b U p93 sl (o yioS

n

Sl plas D COV(Y; 5 87) lodho sl s 3973 sl o b o o ilo
o)

nG' (\

G (¥

po" (v

npcsT (¥

Egomo oyt goold I eoliinl b ooy puSy aiys 1) Y =Py Xy +By Xy + Py Xp +& (b (ygmw,S) Joo
feusl oS By, By, By slas p90 Glsi (. yiaS 091 2

\
-0

) o o ) ¥
v

Y ) | o AR
Y

- ) o o v .

o ) - o v (
¥ (f

s RV =086 iz, n Y =B, 4By Xp By Xyy + 8 ©jpon (1) s GawmsSy Jdoyo
il go Gal381 0708 031l a4y ayazr Ju 50 RY T go cawoas (I1) sy Juso 9 ods Jos 3,9 Xy g
ools (yLis MSE(IL) s MSE(D) b s yiay a5 I1 o T (sl Juo (sllas 090 (ylgi (mSlne 9550 50 &35 plas

Tl Caw yo cilonds

n-—-y

MSE(ID) <-—_MSE(I) ¢

MSE(II) > n—_:MSE(I) ¥
n N—

MSE(II) < MSE(I)
MSE(I) > MSE(I) (f

https://mastertest.ir

W



	1207_Page_01
	1207_Page_02
	1207_Page_03
	1207_Page_04
	1207_Page_05
	1207_Page_06
	1207_Page_07
	1207_Page_08
	1207_Page_09
	1207_Page_10
	1207_Page_11
	1207_Page_12
	1207_Page_13
	1207_Page_14
	1207_Page_15
	1207_Page_16
	1207_Page_17
	1207_Page_18
	1207_Page_19
	1207_Page_20
	1207_Page_21
	1207_Page_22
	1207_Page_23
	1207_Page_24

